xR R ER

Q

T KELLICEI HERRAE(CRIER MO FRIR)

BARERDERE

SERIH D AR IR

& B F 5 15981020

(3 At £ RBIiR

e £ ih KinEHR =R ERFEIR

B B K B AELREERERIASAMELIARELZ—

4

1,200, 000

1/25, 000

R e T T TR s

%357 (S=1:200,000)

L B(S=1:25,000)



SEMMOBAERXRENAE
[ szes RS T

~

ke S A I e S

JER

BX3—1 AEOSTAOHILIL. ELLBEDSTNAOHILHORER
ZE R O f B BEs 5951020 |

BEE

L_S(

1:500
12 18 24 30

0 3 6
A /\ —”:—:— m}'_

TEEDOBENZLZHHI100kN/ MEIBZ LEEH
C TRZEDHESHIMTEBALEEH

i3
..H.\
N

FERTRIER BEDHTNDOHSTHDORXE
C EZELWVEEOSETNOHS T HOXE




S ERBhOFRIRREEEE

¥A3—2 BEMICERTHEEEINDEEICRET HEIEN/2) RAEEE FIR2EFSE
[ SEFEOmE | BRES 75951020 [ ERE2 | THIR SRS i i T TN
3 SEMMO TiRCHEET S5 EENA
ﬁ%&g TREOBBOEILHDRES TREDQHBERILNDKRES TREOBBOEILNDKRES TREFOHFERILNOKRES
2= & 4 ,(%r,na; Tuﬁﬁb\(ﬁ)d)ﬁﬁﬁﬁ jj(g’)\lztf)é R 4 Tuﬁﬁfé\%z(on)'];k:F ﬁ,né; jj(g’)\lztf)é & 4 ,(%m? J:mb\(:)o)tt.% jj(gi&c:ié & 4 J:uﬁﬁ?ﬁ\(z)@l:t.% .(*::ﬁma; jj(gilzcn%é
1 100kN/m#E#BZ % — -~ — —|3mZEBZB| — ~ — — — | 100kN/m#%#BZ% — - ~ — — |3m%EEZD -~ — — —
TS — - ~ = — | Zh st - ~ = — — ZhLS — - ~ — — | ZhList — ~ — — —
2 100kN/m#E#BZ % — -~ — —|3mZEEBZB| — ~ — — — | 100kN/m#%E#BZ % — - ~ — — |3m%EFEZD -~ — — —
ZhLS — - ~ = — | Zh st - ~ = — — ZThLS — - ~ — — | 2 st — ~ — — —
3 100kN/m#&#BZ % — -~ — —|3mZEBZB| — ~ — — — | 100kN/m#%#BZ% — - ~ — — |3m%EEZD -~ — — —
L 1.00 | 0.00 ~ 5.15 64.22 | =S 000 ~ 515|179 9.04 L 1.00 |1 5.00 ~ 56.56 64.22 | ThRS | 6,00 ~ 566 | 1.79 9.04
4 100kN/m#&#BZ % — -~ — —|3mZEEBZB| — ~ — — — | 100kN/m#%E#BZ % — - ~ — — |3m%EFEZD -~ — — —
L 1.00 | 0.00 ~ 397 49.78 | NS | 000 ~ 397|235 11.87 L 1.00 |1 5.00 ~ 7.06 49.78 | =nLS | 5,00 ~ 7.06|2.35 11.87
5 100kN/m#&#BZ % — -~ — —|3mZEEBZB| — ~ — — — | 100kN/m#%#BZ% — - ~ — — |3m%EEZD -~ — — —
L 1.00 | 0.00 ~ 397 49.78 | NS | 000 ~ 397|235 11.87 L 1.00 | 5.00 ~ 7.06 49.78 | =nLS | 5,00 ~ 7.06 | 2.35 11.87
6 100kN/m#E#BZ % — -~ — —|3mZEEBZB| — ~ — — — | 100kN/m#%#B%% — - ~ — — |3m%EFEZD -~ — — —
L 1.00 | 0.00 ~ 4.68 5828 | LS | 0.00 ~ 468|220 11.11 L 1.00 |1 5.00 ~ 6.98 5828 | =nLs | 5,00 ~ 698|220 11.11
7 100kN/m#E#BZ % — -~ — —|3mZEEBZB| — ~ — — — | 100kN/m#%E#BZ % — - ~ — — |3m%EEZD - ~ — — —
LS 1.00 | 000 ~ 468 5828 | #nst | 000 ~ 468|220 11.11 NS 1.00 | 5.00 ~ 6.98 5828 | =S | 5,00 ~ 698|220 11.11
3 100kN/mM#%#BZ 5% — -~ = —[3mZBRB[ — ~ — — — | 100kN/m%#B 2% — - ~ — —|3mZEEZD -~ — — —
LS 1.00 | 000 ~ 541 67.55 | Thst | 0o0o ~ 541206 10.43 NS 1.00 | 500 ~ 720 67.55 | =hs | 65,00 ~ 720|206 10.43
9 100kN/mM%#8Z % — -~ = —[3mZBRB[ — ~ — — — | 100kN/m%#B 2% — - ~ — —|3mZEEZD -~ — — —
zhLst 1.00 | 0.00 ~ 254 33.65 | =N | 000 ~ 254|263 12.80 zhnLs 1.00 | 5.00 ~ 6.76 33.66 | TN | 5.00 ~ 5.756 | 2.63 12.80
10 100kN/mM%#8Z 5% — -~ = —[3mZBRB[ — ~ — — — | 100kN/m%#B 2% — - ~ — —|3mZEEZD -~ — — —
zhnList — — ~ — —| Enst — ~ — — — zhnLs — — ~ — —| En st - ~ — — —
17 100kN/mM%#BZ % — -~ = —[3mZBRB[ — ~ — — — | 100kN/m%#B 2% — - ~ — —|3mZEEZD -~ — — —
zhLst — — ~ — —| Enst — ~ — — — zhnLs — — ~ — —| En s - ~ — — —
12 100kN/mM#%#BZ 5% — -~ = —[3mZBRB[ — ~ — — — | 100kN/m%#B 2% — - ~ — —|3mZEEZD -~ — — —
zhLst — — ~ — —| Enst — ~ — — — zhnLs — — ~ — —| En s - ~ — — —
100kN/mM%#8Z % ~ ImEHEZD ~ 100kN/m##8 2% ~ ImEHEZ D ~
zhLst ~ zh s ~ zhnLs ~ zhst ~
100kN/mM#Z#BZ % ~ ImEHEZD ~ 100kN/m##8 2% ~ ImEHBZD ~
zhnLs ~ zhLs ~ zhnLst ~ zhst ~
100kN/mM#%#BZ 5% ~ ImEHEZD ~ 100kN/m## 825 ~ ImEHEZD ~
TS ~ Zh s ~ TS ~ Zh LS ~




